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PHY101:0Online Quiz # 2 Physics (PHY101) Quiz Start Time: 09:10 AM. 14 June 2021

Question # 1 of 10 ( Start time: 09:10:43 AM. 14 June 2021 ) Total Marks: 1

A particle, held by a string whose other end is attached to a fixed point C, moves in a circle on a horizontal fictionless surface. If the
string is cut, the angular momentum of the particle about the point C:
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Select the correct option

Decreases

O

Increases

=11

Changes direction but not magnitude

Does not change
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PHY101:0Online Quiz # 2 Physics (PHY101) Quiz Start

Question # 3 of 10 { Start time: 09:11:37 AM. 14 June 2021 )

A bullet shoot straight up returns to its starting point in 10 sec. the initial speed was:
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Select the correct option ;oz )
98 m/s

O & ()

48 m/fs

9.8 mfs

24 5 mjs
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PHY101:0Online Quiz # 2 Physics (PHY101) Quiz

Question # 4 of 10 ( Start time: 09:11:55 AM. 14 June 2021 )

One revolution per minute is about:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the cormrect option Qy\@ <

1.57 rad/s

O oV

0.105 radfs

0.95 radfs \

0.0524 radjs

XX LRXAERRXLXRXDAERYRADRDRLAELAEALYADALALALRYRAXALXYXLXALARXLYARXRLDLARXYRLRERRDXALXYILADALRYRXDXILXALALLALXLYRADLLRYRLALLRYRLLXILADLLRYXDILLALELIALXLXAXTLXXIXEIRXXXIXSRNR

TRV R VR VIR VI TR VIV IR VIV TR VIOV T VIR VIR IOV TRV IV I IV TR IV I VIV I VI VIR VIS VI VI VI VI Y UV T T VT I VI ¥ I VI TV TV TV T VI VI ¥ IV TV IV T ¥ T Y T VIV TV Y T VU VIV Y T VUV T VY T VTV T VY R VY e Yy




PAXRX XAV AERE A AR AR AR AR ALY LYY
VTV TV eV VeV Ve Ve VeV Vo Ve Ve Vo Ve Y VeV Ve Y VeV Ve Y VeV Ve Y Ve Ve Ve Ve Ve Ve Ve Y Ve Ve Ve Ve Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Vs Ve Ve Vo Vo Ve Yo o

PHY101:0Online Quiz # 2 Physics (PHY101) Quiz

Question # 5 of 10 ( Start time: 09:12:12 AM. 14 June 2021 )

The goal of all scientific inquiry {or scientific method) is:
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Select the correct option fé\

\\J©7
predicting natural events based on known patterns , (‘\’

° @W

world peace Q\/ v \

world dominion

to make everyone rich and happy
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Question # 6 of 10 ( Start time: 09:12:36 AM. 14 June 2021

when a body moves in a circle, the angle between its linear velocity and angular velocity:

D

Nt

Select the correct option \\\\ (‘_\\
90 ‘A

2D
® &

45 \
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180
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PHY101:Online Quiz # 2 Physics (PHY101)

Question # 7 of 10 { Start time: 09:12:57 AM. 14 June 2021 )

The center of mass of a uniform disk of radius R is located:

2

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option

<
A\
on the rim %)

a distance R/3 from the center \

.

a distance B/2 from the center

at the center
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PHY101:0Online Quiz # 2 Physics (PHY101) Quiz Start Time: 09:10 A

Question # 8 of 10 { Start time: 09:13:17 AM. 14 June 2021 )

Force:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option , A 0\(0 { \

is the rate of change of doing work

L
—

is the ability to do work

equals the negative integral (with respect to distance) of the potential energy function

equals the time rate of change of momentum
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Question # 9 of 10 ( Start time: 09:13:36 AM. 14 June 2021 ) Total Marks

A mosquito's buzz is often rated with a decibel rating of 40 dB. Normal conversation is often rated at 60 dB. How many times maore
intense is normal conversation compared to & mosquito's buzz?

&
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Select the correct option
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400
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PHY101:Online Quiz # 2 Physics (PHY101) Quiz Start Time: 09:10 AM. 14 June 20
Question # 10 of 10 { Start time: 09:13:59 AM. 14 June 2021 ) Total Marks

When number of bodies are such that they can exert force upon one another and no external agency exerts a force on them, they
are said to form:
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[N\ %
Select the comect option _&A\@ m

Mon-inertial frame of reference J\\/\V
O @

An inertial frame of reference K

Mon isclated system \

An isolated system

2" account
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PHY101:0Online Quiz # 2 Physics (PHY101) Quiz Start T

Question # 1 of 10 { Start time: 09:22:36 AM. 14 June 2021 )

back and forth in a leftward and rightward direction. This type of wave is known as a

AN
s .
elect the correct option \‘\\\)@
Electromagnetic w
O oNVv
s

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Transverse
Longitudinal \
Mechanical
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PHY101:Online Quiz # 2 Physics (PHY101) Quiz Start Time: 09:22 AM. 14 June 2021
Question # 2 of 10 ( Start time: 09:22:57 AM. 14 June 2021 ) Total Marks: 1

A ball is thrown upward into the air with a speed that is greater than terminal speed. It lands at the place where it was thrown. During
its flight the force of air resistance is the greatest:
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Select the comrect option

half way up A

at the top of its trajectory

just after it is thrown \

halfway down
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PHY101:Online Quiz # 2 Physics (PHY101) Quiz Start Time: 09

Question # 3 of 10 ( Start time: 09:23:17 AM. 14 June 2021 )

The center of mass of the system consisting of Earth, the Sun, and the planet Mars is:

AN,
Select the comrect option \@ O

at the geometric center of the triangle formed by W Three bodies

0 &

closer to the Sun than to either of the other bodies

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

closer to Mars than to either of the other bodies

closer to Earth than to either of the other badies
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PHY101:0Online Quiz # 2 Physics (PHY101) Quiz Start Time: 09:22 AM. 14 June 2021

Question # 4 of 10 ( Start time: 09:23:34 AM. 14 June 2021 Total Marks: 1

A particle, held by a string whose other end is attached to a fixed point C, moves in a circle on a horizontal fictionless surface. If the
string is cut, the angular momentum of the particle about the point C:

| hedd Roid hoid Reid Roid Roid Roid Roid Reid Roid Roid Roid heid Roid Roid Roid Loid Les

Select the cormrect option

Increases

O

Decreases

_’l

Does not change

Changes direction but not magnitude
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PHY101:Online Quiz # 2 Physics (PHY101) Quiz Start Time: 05:22

Question # 5 of 10 { Start time: 09:23:51 AM. 14 June 2021 )

A plane produces a sonic boom only when:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

1 Select the cormrect option \\\©

Y . “ )

3 it flys faster than the speed of sound

1 ® \

] ® Q\g\/

it fiys at high altitudes

] \
it emits sound waves of high frequency \
it emits sound waves of very long wavelength
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PHY101:Online Quiz # 2 Physics (PHY101) Quiz Start T

Question # 6 of 10 { Start time: 09:24:08 AM. 14 June 2021 )

Young's modulus can be used to calculate the strain for a stress that is:

t3d hedd Reid Loid Reld Roid Roid Roid Roid Roid Roid Roid heid Leid Roid heid Rhoid heid Rei

Select the correct option

N
2
. _ O
just below the ultimate strength @

O

well below the yield strength \@'

Just above the ulimate strength

well above the yield strength

<)
2
}e 3
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PHY101:0Online Quiz # 2 Physics (PHY101) Quiz Start Time: 09:22 AM., 14 J
Question # 7 of 10 { Start time: 09:24:30 AM. 14 June 2021 ) Tota

A water bed that is 1.5 mwide and 2.5 m long weighs 1055 M. Assuming the entire lower surface of the bed is in contact wit
floor, what is the pressure the bed exerts on the floor?

t3d hedd Reid Loid Reld Roid Roid Roid Roid Roid Roid Roid heid Leid Roid heid Rhoid heid Rei
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A

Select the correct option ‘N
250 Pa @“0
o Q)

W o\
2 )
5 260 P \

280 Pa

| ” AT Mo
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PHY101:0Online Quiz # 2 Physics (PHY101) Quiz Start Time:

Question # & of 10 ( Start time: 09:24:51 AM. 14 June 2021 )

As the wavelength of & wave in a uniform medium increases. its speed will

t3d hedd Reid Loid Reld Roid Roid Roid Roid Roid Roid Roid heid Leid Roid heid Rhoid heid Rei

N
Select the cormrect option ({Q

Increase A

O

Remain the same

Decrease \

Mone of these

5 .
/%
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PHY101:Online Quiz # 2 Physics (PHY101) Quiz Start Tir

Question # 9 of 10 { Start time: 09:25:10 AM. 14 June 2021 )

Lighter objects always reach the ground later than heavier objects.

Which is the most suitable explanation for the above statement?

i.  There are some external forces acting on the objects. for example, the air friction.
ii. A heavier object has a larger uniform velocity when it falls freely.

ii. A heavier object has a larger acceleration due to gravity.

Select the comrect option w

(ii) anly @kk@

|” & (7
N _

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

R~
(i) and (i) only K\)

(i) only

(i). (ii) and {iii
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PHY101:Online Quiz # 2 Physics (PHY101) Quiz Start Time: |

Question # 10 of 10 { Start time: 09:25:26 AM. 14 June 2021)

The vibrations or the pressure vanations inside the inner ear are converted into electrical signals by the

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3
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: Select the correct option )\J @_\
3 anvil O

O \\@O

tympanic membrane %}

pinna \

cochlea

34 account
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PHY101:Online Quiz # 2 Physics (PHY101) Quiz Start Time: 10:13 AM. 14 June :

Question # 1 of 10 { Start time: 10:13:04 AM. 14 June 2021 ) Total Mar

In each of the following two situations a source emits sound with a frequency of 1000 Hz. In situation | the source is moving at
100m/s toward an observer at rest. In situation Il the observer is moving at 100m/s toward the source, which is stationary. The
speed of sound is 340m/s. The frequencies heard by the observers in the two situations are:

| hedd Roid hoid Reid Roid Roid Roid Roid Reid Roid Roid Roid heid Roid Roid Roid Loid Les

Select the correct option N

I- 1294 Hz: 11: 1284 Hz

AN

0 %)@vjﬁfb\'
@\}}yf ,

"l

- 1417 Hz: 11: 1417 Hz

I: 773 Hz: Il: 706 Hz
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PHY101:Online Quiz # 2 Physics (PHY101) Quiz Start Time: 10:13 AM, 14 Ju

Question # 2 of 10 { Start time: 10:13:25 AM. 14 June 2021 ) Totall

A sound wave has a wavelength of 3.0m. The distance from a compression center to the adjacent rarefaction center is:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

o)
4

Select the comrect option \/%
0.75m ' A
@) A

need to know wave speed

3.0m
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PHY101:0Online Quiz # 2 Physics (PHY101) Quiz Start Time: 10:13 AM

Question # 3 of 10 { Start time: 10:13:45 AM. 14 June 2021 )

Which of the following statements about completely submerged objects resting on the ccean bottom is correct?

A
e

fa)]

O ¢
Select the correct option @

N
The weight of the object and the buoyart f% are equal and opposite.
o N

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

The apparent weight of the object depends on the object’s density.

The buoyant force acting on the object is equal to the object’'s weight. \

The displaced volume of fluid is greater than the volume of the object.
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PHY101:0Online Quiz # 2 Physics (PHY101) Quiz Start Time: 10:13 A

Question # 4 of 10 { Start time: 10:14:07 AM. 14 June 2021 )

When the mass of the colliding body is much larger than the mass of the body at rest. its velocity after collision:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the cormrect option \\8(@

Becomes double (% >
0 W0

oA, :
Remains same Q§,

A

Becomes half

Becomes zero
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PHY101:0Online Quiz # 2 Physics (PHY101) Quiz Start

Question # 5 of 10 { Start time: 10:14:17 AM. 14 June 2021 )

The rate of change of momentum of a body is equal to:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option

Displacement

O

o /\\/
)
Velocity v
@)
Applied force \
L
Acceleration
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PHY101:0Online Quiz # 2 Physics (PHY101) CQu

Question # 6 of 10 { Start time: 10:14:33 AM. 14 June 2021 )

Suitable units for the gravitational constant G are:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option

M=s/m

O

m3yf (kg*s2)

mjse \

kg=m/s2
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PHY101:0nline Quiz # 2 Physics (PHY101) Quiz Start Time: 1

Question # 7 of 10 { Start time: 10:14:53 AM. 14 June 2021 )

Force:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the comrect option

equals the negative integral (with respect to distance) of the potential energy function

is the ability to do work \ﬁ‘%/ '
o @
\@\i\/

is the rate of change of doing work

equals the time rate of change of momentum

XX LRXAERRXLXRXDAERYRADRDRLAELAEALYADALALALRYRAXALXYXLXALARXLYARXRLDLARXYRLRERRDXALXYILADALRYRXDXILXALALLALXLYRADLLRYRLALLRYRLLXILADLLRYXDILLALELIALXLXAXTLXXIXEIRXXXIXSRNR

TRV R VR VIR VI TR VIV IR VIV TR VIOV T VIR VIR IOV TRV IV I IV TR IV I VIV I VI VIR VIS VI VI VI VI Y UV T T VT I VI ¥ I VI TV TV TV T VI VI ¥ IV TV IV T ¥ T Y T VIV TV Y T VU VIV Y T VUV T VY T VTV T VY R VY e Yy




PAXRX XAV AERE A AR AR AR AR ALY LYY
VTV TV eV VeV Ve Ve VeV Vo Ve Ve Vo Ve Y VeV Ve Y VeV Ve Y VeV Ve Y Ve Ve Ve Ve Ve Ve Ve Y Ve Ve Ve Ve Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Vs Ve Ve Vo Vo Ve Yo o

[E—
PHY101:Online Quiz # 2 Physics (PHY101) Quiz Start Time: 10:13 AM, 14 J
Question # 8 of 10 { Start time: 10:15:09 AM. 14 June 2021 ) Tota

A sound wave has a wavelength of 3.0m. The distance from a compression center to the adjacent rarefaction center is:

t3d hedd Reid Loid Reld Roid Roid Roid Roid Roid Roid Roid heid Leid Roid heid Rhoid heid Rei

‘>

2, \ e
Select the correct option & \ j
1.5m A

© QLY

—

3.0m

0.75m

need to know frequency
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PHY101:Online Quiz # 2 Physics (PHY101) Quiz Start Time: 10:13 AM. 14 June 2

Question # 9 of 10 { Start time: 10:15:23 AM. 14 June 2021 ) Total Mark

Water flows into a house at a velocity of 15 m/s through a pipe that has a radius of 0.40 m. The water then flows through a smaller
pipe at a velocity of 45 mfs. What is the radius of the smaller pipe?

| hedd Roid hoid Reid Roid Roid Roid Roid Reid Roid Roid Roid heid Roid Roid Roid Loid Les
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Select the comrect option Q @ ("'"__"‘\
0.23m '
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K>

037 m

053m \\

017 m
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PHY101:0Online Quiz # 2 Physics (PHY101) Quiz Start Time: 10:13 AM. 14 June :
Question # 10 of 10 { Start time: 10:15:41 AM_ 14 June 2021 ) Total Mar

To determine if a rigid body s in equilibrium the vector sum of the grawitational forces acting on the particles of the body can be
replaced by a single force acting at:

| hedd Roid hoid Reid Roid Roid Roid Roid Reid Roid Roid Roid heid Roid Roid Roid Loid Les

\Kx&
Select the correct option ; E@) T

a point on the boundary A
O o ¥
Qv
X —\
the geometrical center \
O
the center of gravity \

the center of mass
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